

ON SEVERAL INEQUALITIES DEDUCED USING A POWER SERIES APPROACH

LOREDANA CIURDARIU

ABSTRACT. The aim of this paper is to study what would become several inequalities using the power series method. Also some applications will be presented.

1. INTRODUCTION

It is necessary to recall the inequality of J. Radon which was published in [8].

For every real numbers $p > 0$, $x_k \geq 0$, $a_k > 0$ for $1 \leq k \leq n$, we have the following inequality:

$$\sum_{k=1}^n \frac{x_k^{p+1}}{a_k^p} \geq \frac{(\sum_{k=1}^n x_k)^{p+1}}{(\sum_{k=1}^n a_k)^p}, \quad p > 0.$$

Theorem 1. ([4]) For $a_k, x_k > 0$, $p \geq 1$, $k \in \{1, 2, \dots, n\}$, $n \in \mathbb{N}$ and $n \geq 2$ the inequality takes place,

$$(1) \quad \sum_{k=1}^n \frac{x_k^{p+1}}{a_k^p} \geq \frac{(\sum_{k=1}^n x_k)^{p+1}}{(\sum_{k=1}^n a_k)^p} + \max_{1 \leq i < j \leq n} \left\{ \frac{x_i^{p+1}}{a_i^p} + \frac{x_j^{p+1}}{a_j^p} - \frac{(x_i + x_j)^{p+1}}{(a_i + a_j)^p} \right\}$$

with equality if and only if $\frac{x_1}{a_1} = \frac{x_2}{a_2} = \dots = \frac{x_n}{a_n}$.

Also we will use the following two inequalities which were enunciated and proved in [2] and [3].

Theorem 2. ([2]) If $n \in \mathbb{N}^* - \{1\}$, $a \in \mathbb{R}_+$, $b, c, d, x_k \in \mathbb{R}_+$, $X_n = \sum_{k=1}^n x_k$, $cX_n > d \max_{1 \leq k \leq n} x_k$ and $m \in [1, \infty)$, $p \in \mathbb{R}_+$, then:

$$(2) \quad \sum_{k=1}^n \frac{(aX_n + bx_k)^m}{(cX_n - dx_k)^p} \geq \frac{(an + b)^m}{(cn - d)^p} n^{p-m+1} X_n^{m-p}.$$

Theorem 3. ([3]) If $n \in \mathbb{N}^* - \{1\}$, $a, b, x_k \in \mathbb{R}_+$, $k \in \{1, \dots, n\}$, $X_n = \sum_{k=1}^n x_k$ and $m, t, u \in [1, \infty)$, such that $aX_n^t > b \max_{1 \leq k \leq n} x_k^t$, then:

$$(3) \quad \sum_{k=1}^n \frac{x_k^m}{(aX_n^t - bx_k^t)^u} \geq \frac{n^{-m+tu+1}}{(an^t - b)^u} X_n^{m-tu}$$

Date: August 03, 2013.

2000 Mathematics Subject Classification. 26D15.

Key words and phrases. Radon's inequality, power series.

It is also necessary to recall the extension of an inequality which is stronger than the Radon's inequality, and was given by [6] and also a consequence.

Theorem 4. ([6]) *For every $n \geq 2$, $p > 0$, $a_k > 0$, $x_k \geq 0$, $1 \leq k \leq n$, it holds:*

$$\frac{x_1^{p+1}}{a_1^p} + \frac{x_2^{p+1}}{a_2^p} + \dots + \frac{x_n^{p+1}}{a_n^p} \geq \frac{(x_1 + x_2 + \dots + x_n)^{p+1}}{(a_1 + a_2 + \dots + a_n)^p} + p \cdot \max_{1 \leq i < j \leq n} \frac{(x_i + x_j)^{p-1} (a_i x_j - a_j x_i)^2}{a_i a_j (a_i + a_j)^p}.$$

Denoting $x_k = \lambda_k a_k$, $1 \leq k \leq n$, we have the equivalent form:

$$a_1 \lambda_1^{p+1} + a_2 \lambda_2^{p+1} + \dots + a_n \lambda_n^{p+1} \geq \frac{(a_1 \lambda_1 + a_2 \lambda_2 + \dots + a_n \lambda_n)^{p+1}}{(a_1 + a_2 + \dots + a_n)^p} + p \cdot \max_{1 \leq i < j \leq n} \frac{a_i a_j (a_i \lambda_i + a_j \lambda_j)^{p-1} (\lambda_i - \lambda_j)^2}{(a_i + a_j)^p}.$$

Corollary 1. ([6]) *For every $n \geq 2$, $p > 0$, $x_k \geq 0$, $1 \leq k \leq n$, with $s = x_1 + x_2 + \dots + x_n$, the following extension of Nesbitt's inequality holds:*

$$\sum_{k=1}^n \frac{x_k}{(s - x + k)^p} \geq \frac{1}{s^{p-1}} \cdot \left(\frac{n}{n-1} \right)^p + p \cdot \max_{1 \leq i < j \leq n} \frac{x_i x_j (x_i + x_j)^{p-1} (x_i - x_j)^2}{(s - x_i)(s - x_j)[(x_i + x_j)s - (x_i^2 + x_j^2)]^p}.$$

We use below also the next result, which is given in [9].

Theorem 5. ([9]) *For every $n \geq 2$, $p \geq 1$, $a_k \geq 0$, $b_k > 0$, $1 \leq k \leq n$, the following inequalities hold:*

$$(2.5), \quad 0 \leq \Delta_n^{[p]}(a; b) \leq p \left(\Delta_n^{[p]}(a; b) - \frac{\sum_{i=1}^n a_i}{\sum_{i=1}^n b_i} \Delta_n^{[p-1]}(a; b) \right)$$

and

$$0 \leq \Delta_n^{[p]}(a; b) \leq \frac{p}{4} (M - m) (M_{p-1} - m^{p-1}) \left(\sum_{i=1}^n b_i \right),$$

where $m \leq \frac{a_i}{b_i} \leq M$, for $i = 1, \dots, n$.

2. THE RESULTS

In next result an inequality obtained using power series for inequality (2) from Theorem 2, see [2] is given.

Theorem 6. *If $n \in \mathbb{N}^* - \{1\}$, $a \in \mathbb{R}_+$, $b, c, d, x_k \in \mathbb{R}_+$, $X_n = \sum_{k=1}^n x_k$, $cX_n > d \max_{1 \leq k \leq n} x_k$, $m \in [1, \infty)$, $p \in \mathbb{R}_+$, and in addition $aX_n + bx_k < 1$, $(\forall) k \in \{1, 2, \dots, n\}$ then:*

$$\sum_{k=1}^n \frac{aX_n + bx_k}{(cX_n - dx_k)^p (1 - aX_n - bx_k)} \geq \frac{n^{p+1}}{X_n^{p-1} (n - (an + b)X_n)} \cdot \frac{an + b}{(cn - d)^p}$$

Proof. Using inequality (2),

$$\sum_{k=1}^n \frac{(aX_n + bx_k)^m}{(cX_n - dx_k)^p} \geq \left(\frac{an + b}{n} X_n \right)^m \cdot \frac{n^{p+1}}{(X_n(cn - d))^p}$$

when $m \in \mathbb{N}^*$ and replacing m by i and summing then for $i \in \{1, 2, \dots, m\}$ we obtain

$$\sum_{i=1}^m \sum_{k=1}^n \frac{(aX_n + bx_k)^i}{(cX_n - dx_k)^p} \geq \sum_{i=1}^m \left(\frac{an + b}{n} X_n \right)^i \cdot \frac{n^{p+1}}{(X_n(cn - d))^p}.$$

Now taking into account the hypothesis, $0 < aX_n + bx_k < 1$, $(\forall) k \in \{1, 2, \dots, n\}$ and $a \in \mathbb{R}_+$, $b, c, d, x_k \in \mathbb{R}_+$, $k \in \{1, 2, \dots, n\}$ we can notice that,

$$0 \leq \frac{an + b}{n} X_n = aX_n + b \frac{X_n}{n} < aX_n + b \max_{1 \leq k \leq n} < 1.$$

Therefore when m tends to infinity we have

$$\sum_{k=1}^n \frac{1}{(cX_n - dx_k)^p} \cdot \frac{aX_n + bx_k}{1 - (aX_n + bx_k)} \geq \frac{n^{p+1}}{X_n^p (cn - d)^p} \cdot \frac{(an + b)X_n}{n - (an + b)X_n}.$$

or

$$\sum_{k=1}^n \frac{1}{(cX_n - dx_k)^p} \cdot \frac{aX_n + bx_k}{1 - (aX_n + bx_k)} \geq \frac{n^{p+1}}{X_n^{p-1} (n - (an + b)X_n)} \frac{an + b}{(cn - d)^p}.$$

■

Now we give below a form of inequality (1) from Theorem 1, see [4], obtained using a power series approach, see [7] and [5].

Theorem 7. For $a_k, x_k > 0$, $\{1, 2, \dots, n\}$, $n \in \mathbb{N}$, $n \geq 2$ if $x_k < a_k$, $k \in \{1, 2, \dots, n\}$ the inequality takes place,

$$\sum_{i=1}^n \frac{x_i^2}{a_i - x_i} \geq \frac{(\sum_{i=1}^n x_i)^2}{\sum_{i=1}^n a_i - \sum_{i=1}^n x_i} + \max_{1 \leq i < j \leq n} \left\{ \frac{x_i^2}{a_i - x_i} + \frac{x_j^2}{a_j - x_j} - \frac{(x_i + x_j)^2}{a_i + a_j - (x_i + x_j)} \right\}.$$

Proof. We use the same method like before. By inequality (1), we have,

$$\begin{aligned} \sum_{k=1}^n \frac{x_k^{p+1}}{a_k^p} &\geq \frac{(\sum_{k=1}^n x_k)^{p+1}}{(\sum_{k=1}^n a_k)^p} + \max_{1 \leq i < j \leq n} \left\{ \frac{x_i^{p+1}}{a_i^p} + \frac{x_j^{p+1}}{a_j^p} - \frac{(x_i + x_j)^{p+1}}{(a_i + a_j)^p} \right\} \geq \\ &\geq \frac{(\sum_{k=1}^n x_k)^{p+1}}{(\sum_{k=1}^n a_k)^p} + \frac{x_i^{p+1}}{a_i^p} + \frac{x_j^{p+1}}{a_j^p} - \frac{(x_i + x_j)^{p+1}}{(a_i + a_j)^p}, \end{aligned}$$

$(\forall) 1 \leq i < j \leq n$.

Taking into account inequality (1) when $p \in \mathbb{N}^*$ is replaced by l and summing for $l \in \{1, 2, \dots, p\}$, we obtain:

$$\begin{aligned} \sum_{l=1}^p \sum_{k=1}^n a_k \left(\frac{x_k}{a_k} \right)^{l+1} &\geq \sum_{l=1}^p \left(\sum_{k=1}^n a_k \right) \cdot \left(\frac{\sum_{k=1}^n x_k}{\sum_{k=1}^n a_k} \right)^{l+1} + \\ &+ a_i \sum_{l=1}^p \left(\frac{x_i}{a_i} \right)^{l+1} + a_j \sum_{l=1}^p \left(\frac{x_j}{a_j} \right)^{l+1} - (a_i + a_j) \sum_{l=1}^p \left(\frac{x_i + x_j}{a_i + a_j} \right)^{l+1}, \end{aligned}$$

$(\forall) 1 \leq i < j \leq n$.

When p tends to infinity, because $\frac{x_k}{a_k} < 1$, $k \in \{1, 2, \dots, n\}$ and $\sum_{k=1}^n \frac{x_k}{a_k} < 1$ the series are convergent and we have,

$$\sum_{k=1}^n a_k \left(\frac{1}{1 - \frac{x_k}{a_k}} - 1 - \frac{x_k}{a_k} \right) \geq \left(\sum_{k=1}^n a_k \right) \left(\frac{1}{1 - \sum_{k=1}^n \frac{x_k}{a_k}} - 1 - \frac{\sum_{k=1}^n x_k}{\sum_{k=1}^n a_k} \right) +$$

$$+ a_i \left(\frac{1}{1 - \frac{x_i}{a_i}} - 1 - \frac{x_i}{a_i} \right) + a_j \left(\frac{1}{1 - \frac{x_j}{a_j}} - 1 - \frac{x_j}{a_j} \right) - (a_i + a_j) \left(\frac{1}{1 - \frac{x_i + x_j}{a_i + a_j}} - 1 - \frac{x_i + x_j}{a_i + a_j} \right),$$

(\forall) $1 \leq i < j \leq n$.

Therefore

$$\sum_{i=1}^n \frac{x_i^2}{a_i - x_i} \geq \frac{(\sum_{i=1}^n x_i)^2}{\sum_{i=1}^n a_i - \sum_{i=1}^n x_i} + \max_{1 \leq i < j \leq n} \left\{ \frac{x_i^2}{a_i - x_i} + \frac{x_j^2}{a_j - x_j} - \frac{(x_i + x_j)^2}{a_i + a_j - (x_i + x_j)} \right\}.$$

■

We can also see what will become the inequality from Theorem 2, see [6] by using power series method.

Theorem 8. For $a_k, x_k > 0$, $\{1, 2, \dots, n\}$, $n \in \mathbb{N}$, $n \geq 2$ if $x_k < a_k$, $k \in \{1, 2, \dots, n\}$ the inequality takes place,

$$\sum_{i=1}^n \frac{x_i^2}{a_i - x_i} \geq \frac{(\sum_{i=1}^n x_i)^2}{\sum_{i=1}^n a_i - \sum_{i=1}^n x_i} +$$

$$+ \max_{1 \leq i < j \leq n} \left\{ \frac{(a_i + a_j)(a_i x_j - a_j x_i)^2}{a_i a_j} \cdot \frac{1}{[a_i + a_j - (x_i + x_j)]^2} \right\}.$$

Proof. We use the inequality from Theorem 4 and we have

$$\frac{x_1^{p+1}}{a_1^p} + \frac{x_2^{p+1}}{a_2^p} + \dots + \frac{x_n^{p+1}}{a_n^p} \geq \frac{(x_1 + x_2 + \dots + x_n)^{p+1}}{(a_1 + a_2 + \dots + a_n)^p} +$$

$$+ p \cdot \max_{1 \leq i < j \leq n} \frac{(x_i + x_j)^{p-1} (a_i x_j - a_j x_i)^2}{a_i a_j (a_i + a_j)^p} \geq \frac{(x_1 + x_2 + \dots + x_n)^{p+1}}{(a_1 + a_2 + \dots + a_n)^p} +$$

$$+ p \frac{(x_i + x_j)^{p-1} (a_i x_j - a_j x_i)^2}{a_i a_j (a_i + a_j)^p},$$

(\forall) $1 \leq i < j \leq n$.

When $p \in \mathbb{N}^*$ is replaced by l and then summing for $l \in \{1, 2, \dots, p\}$, we obtain:

$$\sum_{l=1}^p \sum_{i=1}^n a_i \frac{x_i^{l+1}}{a_i^{l+1}} - \sum_{l=1}^p (a_i + a_j) \frac{(x_1 + x_2 + \dots + x_n)^{l+1}}{(a_1 + a_1 + \dots + a_n)^{l+1}} \geq$$

$$\geq \sum_{l=1}^p l \cdot \frac{(x_i + x_j)^{l-1} (a_i x_j - a_j x_i)^2}{a_i a_j (a_i + a_j)^l} = \frac{(a_i x_j - a_j x_i)^2}{a_i a_j (a_i + a_j)} \sum_{l=1}^p l \cdot \left(\frac{x_i + x_j}{a_i + a_j} \right)^{l-1},$$

(\forall) $1 \leq i < j \leq n$.

By hypothesis, $x_i < a_i$, $1 \leq i < j \leq n$ we see that $\frac{x_i + x_j}{a_i + a_j} < 1$, $1 \leq i < j \leq n$ and therefore when p tends to infinity we obtain,

$$\sum_{i=1}^n \frac{x_i^2}{a_i - x_i} - \frac{(\sum_{i=1}^n x_i)^2}{\sum_{i=1}^n a_i - \sum_{i=1}^n x_i} \geq \frac{(a_i x_j - a_j x_i)^2}{a_i a_j (a_i + a_j)} \frac{1}{\left(1 - \frac{x_i + x_j}{a_i + a_j}\right)^2} =$$

$$= \frac{(a_i + a_j)(a_i x_j - a_j x_i)^2}{a_i a_j} \cdot \frac{1}{[a_i + a_j - (x_i + x_j)]^2},$$

(\forall) $1 \leq i < j \leq n$.

This implies the required inequality, if we take maximum for all $1 \leq i < j \leq n$, $i, j \in \mathbb{N}$ in the right side of the last inequality.

The well-known equality,

$$\frac{1}{(1-x)^2} = \sum_{k=1}^{\infty} kx^{k-1}$$

where $0 < x < 1$, see [5] was also used before.

■

In next result also the power series is used in order to see what will become the inequality form Corollary 3, see [6] under more restrictive conditions on the numbers x_1, \dots, x_n .

Corollary 2. For every $n \geq 2$, $x_k \geq 0$, $1 \leq k \leq n$, with $s = x_1 + x_2 + \dots + x_n$, and $s - 1 > \max_{1 \leq i < j \leq n, 1 \leq k \leq n} \{x_k, \frac{1}{n-1}, \frac{x_i^2 + x_j^2}{x_i + x_j}\}$ the following inequality takes place:

$$\sum_{k=1}^n \frac{x_k}{s-1-x_k} \geq \frac{ns}{n(s-1)-s} + \max_{1 \leq i < j \leq n} \frac{x_i x_j (x_i - x_j)^2}{(s-x_i)(s-x_j)} \cdot \frac{[(x_i + x_j)s - (x_i^2 + x_j^2)]}{[(x_i + x_j)(s-1) - (x_i^2 + x_j^2)]^2}.$$

Proof. Using the hypothesis we have, $s - x_k > 1$, $s - 1 > \frac{1}{n-1}$ and $x_i + x_j < (x_i + x_j)s - (x_i^2 + x_j^2)$ or $\frac{1}{s-x_k} < 1$, $\frac{n}{(n-1)s} < 1$ and $\frac{x_i + x_j}{(x_i + x_j)s - (x_i^2 + x_j^2)} < 1$ so if we change p in l , where $l \in \{1, 2, \dots, p\}$ and $p \in \mathbb{N}^*$ and take the below sum, we obtain,

$$\sum_{l=1}^p \sum_{k=1}^n \frac{x_k}{(s-x_k)^l} \geq \sum_{l=1}^p \frac{1}{s^{l-1}} \cdot \left(\frac{n}{n-1}\right)^l + \sum_{l=1}^p l \cdot \frac{x_i x_j (x_i + x_j)^{l-1} (x_i - x_j)^2}{(s-x_i)(s-x_j)[(x_i + x_j)s - (x_i^2 + x_j^2)]^l}$$

and when p tends to infinity we have,

$$\sum_{k=1}^n x_k \frac{\frac{1}{s-x_k}}{1 - \frac{1}{s-x_k}} \geq \frac{n}{n-1} \cdot \frac{s(n-1)}{s(n-1)-n} + \frac{x_i x_j (x_i - x_j)^2 [(x_i + x_j)s - (x_i^2 + x_j^2)]}{[(x_i + x_j)(s-1) - (x_i^2 + x_j^2)]^2},$$

(\forall) $1 \leq i < j \leq n$.

Then using the same technique as in previous theorem we obtain the desired maximum and the required inequality.

■

Considering Theorem 3 we can obtain below two different inequalities. First case is when m tends to infinity and the second inequality is obtained when u tends to infinity. Then we study the case when m and u tends to infinity.

Theorem 9. If $n \in \mathbb{N}^* - \{1\}$, $a, b, x_k \in \mathbb{R}_+^*$, $k \in \{1, \dots, n\}$, $X_n = \sum_{k=1}^n x_k$ and $t, u \in [1, \infty)$, such that $aX_n^t > b \max_{1 \leq k \leq n} x_k^t$, and $x_k < 1$, $k \in \{1, \dots, n\}$ then:

$$\sum_{k=1}^n \frac{1}{(aX_n^t - bx_k^t)^u} \cdot \frac{x_k}{1 - x_k} \geq \frac{n^{tu+1}}{(an^t - b)^u X_n^{tu-1}} \cdot \frac{1}{n - X_n}.$$

Proof. Like in previous demonstration summing when m tends to infinity we have,

$$\sum_{k=1}^n \frac{1}{(aX_n^t - bx_k^t)^u} \left(\frac{1}{1 - x_k} - 1 \right) \geq \frac{n^{tu+1}}{(an^t - b)^u X_n^{tu}} \left(\frac{1}{1 - \frac{X_n}{n}} - 1 \right).$$

■

Theorem 10. If $n \in \mathbb{N}^* - \{1\}$, $a, b, x_k \in \mathbb{R}_+^*$, $k \in \{1, \dots, n\}$, $X_n = \sum_{k=1}^n x_k$ and $t, m \in [1, \infty)$, $t \in \mathbb{N}$ such that $aX_n^t > bx_k^t + 1$, $(\forall) k \in \{1, \dots, n\}$ then:

$$\sum_{k=1}^n \frac{x_k^m}{aX_n^t - bx_k^t - 1} \geq \frac{n^{t+1-m} X_n^{m-t}}{an^t - b - \left(\frac{n}{X_n}\right)^t}.$$

Proof. In inequality (3), we consider l instead of u , $l \in \{1, \dots, u\}$ and u a natural number, $u \geq 1$ and summing we obtain:

$$\sum_{l=1}^u \sum_{k=1}^n \frac{x_k^m}{(aX_n^t - bx_k^t)^l} \geq \sum_{l=1}^u \frac{n^{-m+tl+1}}{(an^t - b)^l} X_n^{m-tl}.$$

Because $aX_n^t > bx_k^t + 1$, $(\forall) k \in \{1, \dots, n\}$ and $a, b, x_k \in \mathbb{R}_+^*$ results $naX_n^t \geq b \sum_{k=1}^n x_k^t + n$ or $aX_n^t \geq b \frac{\sum_{k=1}^n x_k^t}{n} + 1$. It is known that

$$\left(\frac{x_1 + \dots + x_n}{n} \right)^t \leq \frac{1}{n} (x_1^t + \dots + x_n^t)$$

if $t \in \mathbb{N} \cup \{0\}$, see [5] and therefore

$$aX_n^t - b \frac{X_n^t}{n^t} > 1$$

or

$$\frac{n^t}{X_n^t} \cdot \frac{1}{an^t - b} < 1.$$

If u tends to infinity we have

$$\sum_{k=1}^n x_k^m \left(\frac{1}{1 - \frac{1}{aX_n^t - bx_k^t}} - 1 \right) \geq n^{1-m} X_n^m \left(\frac{1}{1 - \left(\frac{n}{X_n}\right)^t \frac{1}{an^t - b}} - 1 \right).$$

■

Consequence 1. If $n \in \mathbb{N}^* - \{1\}$, $a, b, x_k \in \mathbb{R}_+^*$, $k \in \{1, \dots, n\}$, $X_n = \sum_{k=1}^n x_k$ and $t, m \in [1, \infty)$, $t \in \mathbb{N}$ such that $aX_n^t > bx_k^t + 1$, $(\forall) k \in \{1, \dots, n\}$ and $x_k < 1$, $k \in \{1, \dots, n\}$ then:

$$\sum_{k=1}^n \frac{1}{aX_n^t - bx_k^t - 1} \cdot \frac{x_k}{1 - x_k} \geq \frac{n^{t+1}}{X_n^t (an^t - b) - n^t} \cdot \frac{X_n}{n - X_n}.$$

It would be also interesting to see what will become some applications of Theorem 1 and Theorem 2, see [3].

Now we see what will become the inequalities (2.5) and (2.6) from Theorem 2.3, see [9] if on numbers a_i, b_i, M and m we have some restrictions.

Theorem 11. *For every $n \geq 2$, $a_k \geq 0$, $b_k > 0$, $1 \leq k \leq n$, the following inequalities hold:*

$$\begin{aligned} 0 &\leq \sum_{i=1}^n \frac{a_i b_i}{b_i - a_i} - \frac{(\sum_{i=1}^n b_i)(\sum_{i=1}^n a_i)}{\sum_{i=1}^n b_i - \sum_{i=1}^n a_i} \leq \\ &\leq \sum_{i=1}^n \frac{a_i b_i^2}{(b_i - a_i)^2} - \frac{(\sum_{i=1}^n a_i)(\sum_{i=1}^n b_i)^2}{(\sum_{i=1}^n b_i)^2 - (\sum_{i=1}^n a_i)^2} - \\ &\quad - \frac{\sum_{i=1}^n a_i}{\sum_{i=1}^n b_i} \left(\sum_{i=1}^n \frac{b_i^3}{(b_i - a_i)^2} - \frac{(\sum_{i=1}^n b_i)^3}{(\sum_{i=1}^n b_i - \sum_{i=1}^n a_i)^2} \right), \end{aligned}$$

and

$$0 \leq \sum_{i=1}^n \frac{a_i b_i}{b_i - a_i} - \frac{\sum_{i=1}^n b_i \sum_{i=1}^n a_i}{\sum_{i=1}^n b_i - \sum_{i=1}^n a_i} \leq \frac{1}{4}(M - m) \left(\frac{1}{(1 - M)^2} - \frac{1}{(1 - m)^2} \right) \sum_{i=1}^n b_i,$$

where $m \leq \frac{a_i}{b_i} \leq M < 1$, $(\forall) i \in \{1, \dots, n\}$.

Proof. We deduce the inequality by the same technique as before, taking into account that the condition $m \leq \frac{a_i}{b_i} \leq M < 1$, $(\forall) i \in \{1, \dots, n\}$ result $\frac{a_i}{b_i} < 1$ and $\frac{\sum_{i=1}^n a_i}{\sum_{i=1}^n b_i} < 1$, $(\forall) i \in \{1, \dots, n\}$.
■

We shall enunciate below the integral form of this last inequality using the same techniques as in [1].

Theorem 12. *Let $f(x) \geq 0$, $g(x) > 0$ and if $f, g : [a, b] \rightarrow \mathbb{R}_+$ be two integrable functions on $[a, b]$ with $m \leq \frac{f(x)}{g(x)} \leq M$, $(\forall) x \in [a, b]$ and $M < 1$ then*

$$\begin{aligned} 0 &\leq \int_a^b \frac{f(x)g(x)}{g(x) - f(x)} dx - \frac{\left(\int_a^b g(x) dx \right)^2}{\int_a^b g(x) dx - \int_a^b f(x) dx} \leq \\ &\leq \int_a^b \frac{f(x)g^2(x) dx}{g(x) - f(x)^2} dx - \frac{\int_a^b f(x) dx \left(\int_a^b g(x) dx \right)^2}{\left(\int_a^b g(x) dx \right)^2 - \left(\int_a^b f(x) dx \right)^2} - \\ &\quad - \frac{\int_a^b f(x) dx}{\int_a^b g(x) dx} \cdot \left(\int_a^b \frac{g^3(x)}{(g(x) - f(x))^2} dx - \frac{\left(\int_a^b g(x) dx \right)^3}{\left(\int_a^b g(x) dx - \int_a^b f(x) dx \right)^2} \right) \end{aligned}$$

and

$$0 \leq \int_a^b \frac{f(x)g(x)}{g(x) - f(x)} dx - \frac{\left(\int_a^b g(x) dx \right)^2}{\int_a^b g(x) dx - \int_a^b f(x) dx} \leq$$

$$\leq \frac{1}{4}(M-m) \left(\frac{1}{(1-M)^2} - \frac{1}{(1-m)^2} \right) \int_a^b g(x) dx.$$

Proof. Let $n \in \mathbb{N}$ and $x_k = k + \frac{b-a}{n}$, $k \in \{0, 1, \dots, n\}$. We use previous theorem, we put $f(x_k)$ instead of a_k and $g(x_k)$ instead of b_k , then we multiply by $\frac{b-a}{n}$ and obtain the corresponding Riemann sums of the functions $\frac{fg}{g-f}$, f , g , $\frac{fg^2}{(g-f)^2}$ and $\frac{g^3}{(g-f)^2}$ below in our inequality:

$$\begin{aligned} 0 &\leq \sigma \left(\frac{fg}{g-f}, \Delta_n, x_k \right) - \frac{\sigma(f, \Delta_n, x_k) \sigma(g, \Delta_n, x_k)}{\sigma(g, \Delta_n, x_k) - \sigma(f, \Delta_n, x_k)} \leq \\ &\leq \sigma \left(\frac{fg^2}{(g-f)^2}, \Delta_n, x_k \right) - \frac{\sigma(f, \Delta_n, x_k) (\sigma(g, \Delta_n, x_k))^2}{(\sigma(g, \Delta_n, x_k))^2 - (\sigma(f, \Delta_n, x_k))^2} - \\ &\frac{\sigma(f, \Delta_n, x_k)}{\sigma(g, \Delta_n, x_k)} \left(\sigma \left(\frac{g^3}{(g-f)^2}, \Delta_n, x_k \right) - \frac{(\sigma(g, \Delta_n, x_k))^3}{(\sigma(g, \Delta_n, x_k) - \sigma(f, \Delta_n, x_k))^2} \right) \end{aligned}$$

and

$$\begin{aligned} 0 &\leq \sigma \left(\frac{fg}{g-f}, \Delta_n, x_k \right) - \frac{\sigma(f, \Delta_n, x_k) \sigma(g, \Delta_n, x_k)}{\sigma(g, \Delta_n, x_k) - \sigma(f, \Delta_n, x_k)} \leq \\ &\leq \frac{1}{4}(M-m) \left(\frac{1}{(1-M)^2} - \frac{1}{(1-m)^2} \right) \sigma(g, \Delta_n, x_k), \end{aligned}$$

where $\Delta_n = (x_0, x_1, \dots, x_n)$ is the division, x_k are the intermediate points and $m \leq \frac{f(x_k)}{g(x_k)} \leq M < 1$, $(\forall) k \in \{1, \dots, n\}$. When n tends to infinity, we obtain the inequalities.

■

REFERENCES

- [1] D. M. Batinetu-Giurgiu, D. Marghidanu and O. T. Pop, A new generalization of Radon's inequalities and applications, *Creative Math. Inform.*, **20** (2011), No. 1, 62-73.
- [2] D. M. Batinetu-Giurgiu, N. Stanciu, One inequality and some applications, *Journal of Science and Arts*, 2013, **2**, 23, 131-134.
- [3] D. M. Batinetu-Giurgiu, N. Stanciu, Some generalizations of IMO inequality, *Journal of Science and Arts*, 2013, **2**, 23, 135-140.
- [4] D. Marghidanu, Generalizations and refinements for Bergstrom and Radon's inequalities, *Journal of Science and Arts*, 2008, **8**, 1, 57-62.
- [5] J. Moonja, Inequalities via power series and Cauchy-Schwarz inequality, *J. Korean Soc. Math. Educ. Ser. B: Pure Appl. Math.*, Vol. 19, Number 3 (August 2012), 305-313.
- [6] C. Mortici, A new refinement of the Radon inequality, *Math. Commun.*, **16** (2011), 319-324.
- [7] C. Mortici, A Power Series Approach to Some Inequalities, *The American Mathematical Monthly*, Vol. 119, No. 2 (February 2012), pp. 147-151.
- [8] J. Radon, Uber die absolut additiven Mengenfunktionen, *Wiener Sitzungsber* **122** (1913), 1295-1438.
- [9] A. Ratiu, N. Minculete, Several refinements and counterparts of Radon's inequality, submitted.

DEPARTMENT OF MATHEMATICS, "POLITEHNICA" UNIVERSITY OF TIMISOARA, P-TA. VICTORIEI, NO.2, 300006-TIMISOARA